Manuals+ — User Manuals Simplified.

NEXT LEVEL GT Lite User Guide

Home » next level » NEXT LEVEL GT Lite User Guide ©:

NEXT LEVEL GT Lite User Guide

We know you’re eager to start racing! Take your time with the instructions and follow this guide to assemble your
product.
You'll be setting yourself up for success with following the instruction booklet to fully optimize your product.

ASSEMBLY VIDEO


https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/next-level
https://manuals.plus/next-level/gt-lite-manual.pdf

@next_level_racing

f @nextlevelracingOfficial

@nextlviracing

Next Level Racing

o

support@nextlevelracing.com

Contents

1 PRE-RACE CHECKS
2 IN THE BOX

3 START

4 ADJUSTMENTS

5 WARNING

6 ASSISTANCE

7 Documents /
Resources

8 Related Posts


https://www.nextlevelracing.com/next-level-racing-video-instructions-and-tips/
https://www.nextlevelracing.com/follow-us/
mailto:support@nextlevelracing.com

PRE-RACE CHECKS

WARNING

« Please do not use power tools for assembly as over tightening can damage your frame.

« Do not adjust the hubs while user is sitting in cockpit. Make sure user is out of the cockpit before adjusting.

« Make sure the hubs are tightened fully before using the cockpit. (spin the hub clockwise to ensure it is fully
tight)

« Make sure strap on wheel bar is tight when adjusting the hubs otherwise the wheel will fall when hubs are

open.

X
4% If you require any support with your product please contact our friendly team at:
support@nextlevelracing.com

WARNING
CHOKING HAZARD — Small parts not for children under 3 years or any individuals who have a tendency to place
inedible objects in their mouths.

IN THE BOX

« 8 XM6 15MM

« 8 X M6 WASHERS

e 4 X M6 NUTS



mailto:support@nextlevelracing.com

e 1 xM6 ALLEN KEY PHILLIPS HEAD

e 1 xM4 ALLEN KEY

« 1 X WRENCH

e 4 x M5 30MM

o 4 X M5 WASHERS



e« 4 X M5 NUTS

START

1.0













ADJUSTMENTS

Adjusl pisdal plale angle by
T TR £ SETRe




Y

Fllp inil sction saasr then
riz-align with Nas




i Rotme cinchwing
(o B tighaen & iv-Chackwia
in keszaen

O WARNING (1
SR




| i W clais s s breesi

& WARNING &

Finirn i pha b lail idias

Ll o ]

WARNING

« Do not use power tools for assembly as over tightening can damage your frame.
« Do not adjust the hubs while user is sitting in cockpit. Make sure user is out of the cockpit before adjusting

« Make sure the hubs are tightened fully before using the cockpit (spin the hub clockwise to ensure it is fully tight)



« Make sure strap on wheel bar is tight when adjusting the hubs otherwise the wheel will fall when hubs are

open.

ASSISTANCE

bit.ly/nirbuild

If you require further support with your product please contact our friendly team at:

support@nextlevelracing.com

Documents / Resources

Re NEXT LEVEL GT Lite [pdf] User Guide
<24 | NEXT LEVEL, GT Lite

=
=

i
b

||||||ﬂ

Manuals+,


http://bit.ly/nlrbuild
mailto:support@nextlevelracing.com
https://manuals.plus/m/a55e4dcfed1915bb455e83aae2cf1290346763302b623ceb7f22690c89ea7285
https://manuals.plus/m/a55e4dcfed1915bb455e83aae2cf1290346763302b623ceb7f22690c89ea7285_optim.pdf
https://manuals.plus/

	NEXT LEVEL GT Lite User Guide
	PRE-RACE CHECKS
	IN THE BOX
	START
	ADJUSTMENTS
	WARNING
	ASSISTANCE
	Documents / Resources


